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Choose the word whose underlined part differs from the other three in 
pronunciation in each of the following questions. 
1.  A. plough B. brown C. cloud D. although 
2.  A. famous B. narrow C. carry D. glad 
3.  A. church B. voluntary C. culture D. nature 
4. A. sport B. job C. airport  D. before 
 
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs 
from the other three in the position of primary stress in each of the following 
questions. 
5.  A. device B. relax C. request D. foreign 
 
Choose the underlined part that needs correction in each of the following questions. 
6. I like the present whom you gave me on my birthday 
        A                         B              C           D 
7. The poverty of their parents prevents them from have good schooling. 
                A                                                         B      C                   D 
8. Kenneth arrives at the office late yesterday morning because of the traffic jam 
                        A                          B                                        C                   D 
Choose the correct answer to each of the following questions 
9. A computer can help you …………… with other people and friends around the world. 

A. contact B. speak C. interact D. deal 
10. A: Let's play some music.  B: ........................................................................................ 

A. Certainly. B. Thank you. C. Yes, please. D. Good idea. 
11. A film which is made by photographing a series of changing drawings is called a 
............. 

A. documentary B. cartoon    C. drama       D. comedy     
12. Miss Lan Phuong enjoys ....................... with children. 

A. works B. to work       C. worked D. working    
13. . ........................... his illness, he managed to come to school. 

A. Because B. In spite of      C. Because of     D. Although 
14.  A nurse is a person ..…………… looks after patients. 

A. who  B. which C. she  D. where 
15. Look at the baby! I think he…………………… 

A. is going to fall B. am going to fall C. are going to fall D. were going to fall 
16. I ………………. Peter in the street last night. 



A. met  B. meeting C. meets D. had met 
17. John didn’t pass the exam,……………..made her parents sad 

A. why B. when C. which  D. where 
18. Mary will lose her job if she ………………….late again. 

A. be  B. is C. being  D. been 
19. He ………….in London three years ago. 

A. lived B. living C. to live D. had left 
20. The man ______ was born in a poor family is a good student. 

A. which B. when  C. why D. who  
21. .....................is your new school? ~ It's very big and friendly. 

A. What B. Which C. Where D. How 
22. He agreed.................the job as soon as possible.  

A. start B. starting C. to start D. to be started. 
23. The government is discussing the problem of housing for the ………………… . 

A. unemployed B. unemployment  C. employed  D. employ 
24. Without the Braille Alphabet it would be very difficult for ………..  
 A. disabled  B. the deaf                         C. the mute                             D. the blind  
25. I shouldn’t go there at night if I ......................you. 

   A. am                B. was        C. be              D. 
were 

Choose the most suitable response to complete each of the following exchanges 
26. How did you come here this morning?  

A. Thanks. That was right. B. By bus. 
C. The weather was too bad. D. It cost a lot of money. 

27. “Thank you so much for your help, Miss Lan.” “………………..” 
A. You’re welcome            B. You’re right            
C. I know that            D. Don’t forget it 

Choose the word(s) CLOSEST in meaning to the underlined word(s) in each of the 
questions. 
28. Marie Curie had one of the most brilliant minds in the world.     
 A. famous  B. intelligent C. poor  D. rich 
29. The president expressed his deep sorrow over the bombing deaths.           
 A. sadness B. anger       C. regret D. passion 
30. She volunteered to teach in a school for the handicapped children.    
 A. young B. rich C. disabled D. poor 
Choose the correct sentence that best rewrites the root one: 
31. This story is about a woman. She doesn’t know how to read and write.  

A. This story is about a woman who doesn’t know how to read and write.  
B. This story is about a woman which doesn’t know how to read and write.  
C. This story who doesn’t know how to read and write is about a woman   



D. She doesn’t know how to read and write who this story is about a woman 
32. The street is very noisy. This makes it difficult to sleep.  

A. The street is very noisy, this makes it difficult to sleep.   
B. The street is very noisy, who makes it difficult to sleep.   
C. The street is very noisy, which makes it difficult to sleep. 
D. The street is very noisy, which this makes it difficult to sleep 

33. Because the weather was cold, we kept the fire burning all day.  
A. Because the cold weather, we kept the fire burning all day.  
B. Because of the cold weather, we kept the fire burning all day.  
C. In spite of the cold weather, we kept the fire burning all day.  
D. We kept the fire burning all day because of the weather was cold. 

34. “I can’t help you now because I have too much homework.”  
A. She said I couldn’t help me now because I had too much homework.    
B. She said she couldn’t help me then because she had too much homework.  
C. She said she can’t help you now because she has too much homework.  
D. She said I couldn’t help her now because She had too much homework. 

35. They have watched this film on TV.  
A. This film have been watch on TV.                              
B. This film have been watched on TV 

C. This film has been watched on TV.                              
D. This film has watched on TV 

Read the passage and choose the best answer to each question from the four choices 
(A, B, C, D) given: 
          During the last 400 years, most scientists have relied on mathematics for the 
development of their inventions or discoveries. However, one great British scientist, 
Michael Faraday, did not make use of mathematics Faraday, the son of a poor 
blacksmith, was born in London in 1791 and had no education beyond reading and 
writing.  
          In 1812, Faraday was hired as a bottle washer by the great chemist Humphry Davy.  
Later, Faraday became a greater scientist than Dary, making  the last years of Davy’s life 
embittered with jealousy. 
              Faraday made the first electric motor in 1821, a device that used electricity to 
produce movement. Then Faraday became interested in the relationship between 
electricity and magnetism. In 1831, he discovered that when a magnet is moved near a 
wire, electricity flows in the wire. With this discovery, he produced a machine for 
making electricity called dynamo Faraday then went on to show how electricity affects 
chemical substances. 
            Because Faraday believed that money should be given to the poor, when he grew 
old, he was very poor. However, Queen Victoria rewarded him for his discoveries by 
giving him a stipend and a house. He died in 1867. 



36. Which of the following statements is NOT true about Faraday? 
A. He didn’t make use of mathematics to develop his inventions. 
B.  He just knew how to read and write. 
C. He was born in a rich family. 
D. His father was a blacksmith. 

37. Humphry Davy hired Faraday to work as a ………………………. . 
A. chemist B. bottle washer C. scientist D. professor 

38. All or the following are mentioned as Faraday’s achievements Except 
……………….. . 
A. his invention of dynamo 
B. his discovery of the effects of electricity on chemical substances 
C. his invention of electric motor in 1821 
D. his discovery of magnetism 

39. Faraday got a stipend and a house as a reward from ……………………. . 
A. Humphry Davy B. his father C. Queen Victoria D. his friend 

40. Faraday died in ……………. . 
A. 1812 B. 1831 C. 1867 D. 1821 

Read the following passage and mark the letter A, B, C, or D on your answer sheet 
to indicate the correct word or phrase that best fits each of the numbered blanks  
All early television was broadcast in black and white. Color television was possible but it 
was too (41) _____ and of very poor quality until the middle of the 1950s. Color 
television broadcasts began in the United States in 1954, in Japan in 1960, and in Europe 
in 1967. 
The first (42) _____ on the moon was broadcast live on television in 1969, and now 
television programs are transmitted all over the world immediately through the  use of 
satellites that transmit the  signals from the earth, through (43) _____, and back to the 
earth. 
More people now (44) _____ their news and information through television than through 
newspapers and radio. The development of television is one of the most rapid and 
exciting (45) _____ of our century. 
41. A. bulky  B. complicated C. expensive D. valuable 
42. A. arriving  B. flying C. landing D. moving 
43. A. space  B. atmosphere C. distance D. area 
44. A. have  B. get C. take D. bring 
45. A. problems  B. facts C. events D. issues 
 
Read the passage  and choose the correct answer to each question below: 
       Inventors made the first TV pictures in the 1920s. Television stations started 
broadcasting the first regular TV shows in the 1940s. The first TV sets had small screens 
and showed black and white pictures. 



       TV sets have become bigger. Most TVs sold today show color pictures. TV screens 
have become bigger and bigger while TV sets have become thinner. In fact, Plasma TV 
sets are so thin that you can hang them  
on a wall. 
       TV can do many things other than entertainment. TV cameras can be sent to places 
that are difficult or dangerous for people. They can travel to outer space. Spacecraft 
carry TV cameras to other planets. The cameras send back pictures that let us know what 
the other planets look like. TV cameras on robot submarines can go down in the sea. In 
medicine, doctors use tiny cameras inside the human body. 
46. The first TV pictures were invented ……………………. .     
A. in 1920                                           B. in 1940 C. in the 1920s                                   D. in the 1940s 

47. The first TV sets …………………….. . 
A. showed colored pictures B. showed black and white pictures 
C. had small screens D. B and C 

48. The following statements are true except ……………………….. . 
A. Plasma TV sets are so thin that you can hang them on a wall 
B. TV screens have become bigger and bigger 
C. TV sets used to be very thin 
D. Most TVs sold today show color pictures 

 49. What is NOT true about TV cameras? 
A. TV cameras are for entertainment 
B. TV cameras can go down in the sea 
C. TV cameras give us information about other planets 
D. TV cameras are not  used in medicine 

50. ‘Spacecraft’ in paragraph 3 means …………………………. . 
A. a vehicle that travels in space B. a man that travels in space 
C. a strange human being living in space D. a TV camera 

 
 
 
 
 
 
 
 
 
 
 
 
 


